2 3 4 5 6 7 8 9 10 11 12 13 14 | 15 16

© Copyright : Gatic Pty Ltd - 2014

NOTE:
8 ONLY OF M10x50 BOLTS
REQUIRED FOR ASSEMBLY C/W
WASHERS AND NUTS
(c )
(o] (o]
™ e
— N ___J
— ——
) () =
==, o
: o ) a E
(o)}
=
_/ \_ ]
) () — 1
A || M| A
e )
SECTION B-B
Item Document | Revision Title Material Qty Mass
No. No.
1 1662 G 914x914 C/O Concrete Infill Ductile Iron 500-7 1 137.5 kg
Cover Class D
2 4013 B 914mm Draw Cut Bar Class D Ductile Iron 500-7 1 15.4 kg
994
3 4015 C 914 mm RH Side Bar Class D Ductile Iron 500-7 1 13.8 kg
I 4 4014 C 914 mm LH Side Bar Class D Ductile Iron 500-7 1 13.9 kg
~ o~
= g —= 'J \ ’J ‘ = ? ™ 5 4016 B 914mm Under Cut Bar Class D Ductile Iron 500-7 1 12.8 kg
6 2856 A M10 Washer Nylon, general purpose 2 0.0 kg
914 C/O 7 2855 A M10 Washer Stainless Steel, 304 2 0.0 kg
SECTION A-A 8 2857 A M10x65 Socket Head Cap Bolt Stainless Steel, 304 2 0.1 kg
9 2854 C Plastic Plug @26 mm UV Stabilized Nylon 2 0.0 kg
10 1681 A Plastic Keyhole Plug UV Stabilized Nylon 6 0.0 kg
UNLESS OTHERWISE STATED | 1NEAR MACHINING TOLERANCE: NOM = Nominal; O/A = Overall; TYP = Typical; C/O = Clear Opening e BY DATE |“Chsoicosp | ™%  914x914 C/O CONCRETE INFILL COVER &
CZ) ALL MEASURES IN MILIMETERS. X. +0.25 mm E esined: | F.M. | 09-10-14 [Scaie: FRAME ASSEMBLY CLASS D
@ GENERAL CAST TOLERANCES: XX £0.10 mm FINISH: A e e g o STED 5 SPECIFIED. — @ oraw: | FM. | 09-10-14 FORMAE'T'S' HATERIAL - | s 193.5 kg
0 A | 09-10-14 | Initial Release FM. | SS. cC/:ZthNIGSCF){ESfIZ-E mm QNGULi%P;5CHINING TOLERANCE: ESSLkY?’:EIEIDO-LOG/:\'SF‘I‘(GZBSOéALING GREASE TO BE S ot e i THIRD ANGLE | e | S5 | 09:10-14 A3 fee -
© No | DATE DESCRIPTION BY |ckD.| praFT TAPERS: 2° XX £0.1° APPLIED ON ALL MACHINED SURFACES. ghl-so;{asfzf?rsdzré?ed'Fzg-Bg9331125' SSSS%‘CJWV.Z%‘Z%.?,U PROJECTION [ asroveo:| H.B. | 09-10-14 [*™" 1of 1 5039 A
1 2 | 4 5 6 7 8 9 | 10 | 11 | 12 | 13 | 14 | 15 16




